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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2013 

ELECTIVE COURSE : COMMERCE 

ECO-2 : ACCOUNTANCY-I 

Time : 2 Hours 	 Maximum Marks : 50 

Weightage : 70% 

Note : Attempt any four questions, including question no. 1 

which is compulsory. 

1. 	Answer any two of the following : 	 7+7 

(a) What is consistency concept ? Explain its 

accounting implications with examples. 

(b) Explain the objectives of accounting. 

(c) What do you mean by depreciation ? 

Discuss the factors affecting the amount of 

depreciation. 

(d) Distinguish between provisions and 

reserves. 
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2. (a) The Literary Society of Mumbai had received 6+6 
Rs. 60,000 in 2010 towards subscription. 
Further information is : 
Subscription for 2009 unpaid on 1.1.2010 
were Rs. 4000, Rs. 3800 of which were 
received in 2010. Subscription paid in 
advance on 31.12.2009 were Rs. 1600 and 
the same on 31.12.2010 were Rs. 2100. 
Subscription for 2010 unpaid on 31.12.2010 
were Rs. 5,100. What amount of 
subscription will be credited to Income and 
Expenditures account of the year 2010. 

(b) What is meant by Receipts and Payments 
Account ? In what respect does it differ 
from Income and Expenditure A/C. 

3. Raghav Radio & Co., Mumbai sent on 12 
consignment to chaddha & Co. Calcutta 100 radio 
sets, invoiced at Rs. 1,000 each on January 6 2011. 
Raghav Radio & Co. Paid Rs. 4,000 on the same 
day for dispatching goods to the consignee. 
Consignee remitted Rs. 50,000 as an advance by 
bank draft on 14th January. The consignee is 
entitled to a commission of 10% on the sale 
proceeds. On receipts of goods the consignee paid 
Rs. 2000 for freight and Rs. 4,500 for godown 
charges. On January 28, Chaddha & Co.. sent an 
Account sales showing that the radio sets have 
realized Rs. 1,500/ each. He remits the amount 
due to Raghav Radio & Co. Pass journal entries 
in the books of consignor. 
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4. 	(a) What is self - Balancing system ? State its 6+6 

advantages. 

(b) Discuss the draw backs of single entry 

system of accounting. 

	

5. 	Pass journal entries to rectify the following errors. 	12 
(a) Goods Rs. 4,000 sold on credit to B, no entry 

was made in books. 

(b) No entry was made for purchases returns 

of Rs. 3,000. 

(c) No entry was made for sales returns of 

Rs. 5,000. 

(d) Goods purchased on credit from S Rs. 5,000, 

was recorded in purchase book as Rs. 500 

(e) Sales of Rs. 6,000 to D were recorded as 

Rs. 600 in sales Book. 

(f) Rs. 1,000 Received from Ram has been 

credited to Shyam's account. 

	

6. 	Write short notes on any two of the following : 	6+6 
(a) Provision for doubtful debts 

(b) Capital expenditure 

(c) Deferred Revenue Expenditure 

(d) Cost - concept of Accounting. 
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1. 	f-p-irorod 4 -4f 	 drR' fffr-W : 	7+7 

(a) L cht")'-lcIl ch1 'Hcbc.-4-11 cteli t? 

F-6c11241 	Trfta oemsql 

(b) c4(.11c11-1 	•Wf 	WIF- R 1 

(c) 3-17f 	.1-441 	t? itc-e4w-r cb1 

TINT -srliTi-da.  ct.A 	 

(d) HicfqTt (provisions) .21TTIW (reserves) g ataT 

oici 	I 
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2. 	(a) la-l*c 	t roN *Erca ctti 2010 14 60,000 T. 6+6 

TI kto-114 3rrFrv1 31-P:R:0-9-rrwrTt: 

1.1.2010 t 2009 	-ciqi 4,000 T. 21T 

- 7:114 74 3,800 T. 2010 4 mid t -7T7 I 31.12.2009 

▪ 4  	31-iff tIPI 1,600 . 2.TT 31.12.2010 

▪ 71#T 2,100 T. 4-  I 31.12.20101 2010 

cb1 31-9-rEr 	Trt 5,100 T. 4I 	;11d 

Rh 	 2010 t 3171-06N 71T . 	Li 
aTra 4)1 f-*---dt Trr7r .-ftZ 	\YU 1+11.? 

(b) 3r f 7411771-ff -ZNT 	ctql T&4 t ? 	 

-a-r fw- r 	t? 

3. 	TIsfq tft-z4 vis *crt, 	chochrif 	 12 

	

6 79-44 2011 	100 tft-Th t4 e. 1,000 T. 5I ri 
,iktful -ER 01 -TrEra rrTz4 d(-11 rq-i 4,000 T. 

tItftsra 	4-110 91-44 1T oe-11 f+-7 I 14 	2011 ch) 

gift 	TITFZ giki 50,000 T. chl 	3Trliff 

(advance) tc■LI 14 441 IffErt fq*71 7{10% chri-Ril 

31-r 	1-  t 	 fii-o-4 'T -crtfErt 2,000 T. lilt 

-ff2TT 4,500 T. 11)71:1 cq41 	 -F-*-7 	-Tat-  28 
vJs 	fa-WT1 faa-Tur 	TrAti 4d(I 

1,500 T. 31 	rd t1 	e. 	 fTtyR ITffk TrEp tftt 

-crlr -  *tit   Trftr .wr Tura- 	rqqi 1 titEr- 

-a- r-*-'f 3TraFfw 	4M 	Fa FE41 I 
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4. 	(a) 7zi-Tk-67 wr-d-r varro-1 A c4-q1 -ffreTzi t? 7;1* 6+6 

(b)   l 	-z§rr 	-wr-Trt 

fa—d-q-ff 

	

5. 	(Ad3-171f4t 7449' 	■31-1(4 NrcIr8q1. 	: 	12 

(a) B ch.) 4,000 T. f Jim 3VRT 	:I1 4 
	 chl -41 -51-fdrg le 4 	I 

(b) 3,000 T. ch'l sh -qTEITft ci-1 	1;ltd-rE -I 	cb 

4ii I 

(c) 5,000 T. cr 	cb1 	-71-#E 	'4;1 

11 	 I 

(d) S A 5,000 T. 	31117 -UNT 4 1q1 	 AI 

4 500 T. c -91f-dt ch1 TT'' I 

(e) D 	6,000 T. T +-Ho 	f7T1---*1 td-Wz{ 

'Te 4 600 T. 3f{ I1     I 

(f) 7NA -51.THv 1,000 T. VITIT -UT" 4 tfga f+-7 
TT• I 

	

6. 	r-14--irrirteci 4 A 	4NTFt 	 Frift17 : 	6+6 

(a) #17'4 	rc-R mtcm-r-i 

(b) -It471-cc 06i 

(c) 3-1T-T-2Tfrrff 3171TM 	 

(d) *1 	ch1 441 c-ki 
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